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T 4597 :
HETICTRET 145911 %1 a5 GIae] & qigq 3K 371 dxed] & 9Ierd Iy :

(1)

59 Y97-97 4 30 397 & | @4 3v7 1fAard & |

(i) T8 Y97-9 Giel @US] 7 [G9If5id 8 - @WUS &, @, T, 909 & /
(iii) @IS FH T 97 G&IT1 @ 12 TF TFlaHe91d (MCQ) TFR & Uh-U 3% & Jo7 & |
(iv) TUE W H ¥v7 G&o7 13 @ 18 % &T9-3709 (SA) IR & FI-g1 37H & J97 8 |
T F9 T I 50 T55] & 371 T& g7 =IET |
(v) @UETH 97 G&I7 19 T 23 T 9-371T (LA) IHR 3 AR-TR 3H & J97 5 /
9% §97 BT I 100 Y5l @ 371 787 8141 F1e0 |
(vi) U T H J97 GCIT 24 T 26 TF AR, Higd T THITT-STIRT F97 & |
(vii) TS F 7 J97 G&IT 27 @ 30 7% FH-IHIT (LA) IR & Bg-Bg % & J97 8 |
Y% Y97 &1 3T 170 551 G 371 787 51471 =iz |
(viii) F97-97 H HI3 GHT [dhcT 761 & | Te9 F& T T aRF 16d5HcT BT Fae/ 177
T E | 37 I § & HaT Uk 81 FIT HT I [o7GT ST |
(ix) 5T% s, Yo @S Td Yo 3 @1, 58l SH1avIs 8, [4e9 7T 17 & |
WU &
o7 G&T 1 & 12 7% Tglasedid (MCQ) J#R & Uah-Ud 3% & 97 5 | 12x1=12
1. T=fafRea # ¥ H9-8 w29 Saaar & 91 e U fom®’ § gafd qeHifaes
fofel & s 4wt & 2
() T gt ggHd ¥ fF 9na o fomkE w1 Aqd el Halg IR
grTioTeR-3TTifeh =T gl BIMT =ey |
(i) 39 od W off ggufq s for a8 amen samariE, Sammafde R et
T TE BIST ST Fehal |
(iii) had TR hI A=A T HTad HE & Tgqul e e
=R |
(iv) |l TSHIfde ol § HAT8-HIITORT 3R SHa1 hl E&llehid BTEd hil el
g7 |
Hﬁﬁwgﬁq
(@) (@), (i) 3R (iii) b) (@), (i) IR (iv)
(€ (b, (iii) #N (iv) d @, (i) 3 (qv)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 30 questions. All questions are compulsory.

(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

(iv) In Section B - Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

(v)  In Section C — Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

(vi) In Section D — Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

(vii) In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

(viii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying

1 mark each. 12x1=12

1. Which of these statements about the political decisions taken after

59/4/2

independence related to development are correct ?

(1) Almost everyone agreed that the development of India should
mean both economic growth and social-economic justice.

(i1) It was also agreed that this matter cannot be left to businessmen,
industrialists and farmers.

(iii)  Only the government should play a key role to ensure growth with

justice.
(iv) It was necessary to consult all political parties and get public
approval.
Choose the correct option :
(a) (1), (i1) and (iii) (b) (D), (i1) and (iv)
(c) (i1), (iii) and (iv) (d (@), (iii) and (iv)
Page 3 of 23 P.T.O.
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2. fedi yaedffa aomr & 91§ f=faiea 8 9 991 w4 98 787 @ 2
(a) SHPT GHIG S TI@ TR 7 qIR fokam o |
(b) 3EH 9 TN & foer W IR feam man |

(¢c) 3Yh! THIEfY 1956 — 61 oft |
(d) 3Gkl HIRET a1 Tid B G=HTHS dcatd i bl off |

3. fTfaRea 4 @ #F TRl e o fow v @aw & ?

(a) Jg
(b)  Bferm = fAmio
(c)  3ATdehdIe

(@) A TeaSl (M)

4.  9a i g ifd & 9R °, fEfaiad seEt § @ 98 w5 /e o T
(i) YA T YTHTY] HRIHH 1940 % CIeh b 3Id H I& TR AT oT |

(i) &% Y] R % fEaerd 9 N 3= HEWIkeAl ¥ SAYH T
fefiet & fore S e |

(i) UEHTY] TYER Tl I AN & T YR b a0 § o1 Afeh 38

AMfTaaerTela faear hl FSHT & HROT, YR &l 9T &G deeqT IS |

Td fasen g -
(a) (1) 3 (D)
(b)  Had ()
(c)  °had (iii)

@ @), (i) AR (iii)
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2. Which one of the following statements about the Second Five Year Plan is

not correct ?

(a) It was drafted by some leading industrialists.
(b) It stressed on the development of heavy industries.
(c) Its time period was 1956 — 61.
(d) It wanted to bring about quick structural transformation.
3. Which among the following is a threat to non-traditional security ?
(a) War
(b)  Manufacturing of weapons
(c) Terrorism
(d)  Internal disturbances
4, From the following statements about India’s Nuclear Policy, choose the

correct statement(s) :

1)
(i1)

(iii)

India’s nuclear programme was started in the late 1940s.

Nehru was against nuclear weapons and pleaded with the

superpowers for comprehensive nuclear disarmament.

India was in support of the NPT at the time of its adoption but its

indefinite expansion plan forced India to change its stand.

Choose the correct option :

(a)
(b)
(c)
(d)

59/4/2

(i) and (i)
Only ()

Only (iii)

(i), (ii) and (iii)
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5. = @ wea feu U @ ﬁqﬁwﬁeﬁf*ﬁam(mam mﬁoblwl (R) €/
W%mw%lﬁwaﬁaﬁwﬂﬁqﬁqaﬁi%ﬁ&qmﬁwﬁ
(a), (b), (c) 3R () ® & I % &9 H "l faeheq FHT |
3BT (A) : TG YUt TehRmal 8 T 3 gaEe s+ 15 oft, fSaa

3Geh ARG I SToH 98d Hicd &l T |
FRU(R):  Tgdia fova Ig < a1 Aifosa 99 T UgH W &9 791 o |
(a) 3P (A) 3 HRUT (R) THT Fal 8 N HRUT (R), (HH (A)
& ST KT 8 |
(b) IR (A) 3 SR (R) SHI WAl &, T B (R), BT (A) I
el STl g7 T B |
() AR (A) FEl 8, T H1 (R) Teid & |
d) YT (A) Ted ], Weg HROT (R) & R |

6. = < wea ferw U § — W ww v IfieRed (A) 99T @R S HRU (R) g
a%%mw%lsqrmﬁﬁwﬁtﬁ%qaﬁi%ﬁ%ﬁqmﬁarﬁ
(a), (b), (c) 3R () & & I = &9 ¥ "l fIshew g |
BT (A) : 1971 H Wieh&d™ o €Y I§ % SN WRA H 9gd Sl 9@ §

IRoTeAT 3T |
HRU(R): WM o WRA UHaedT &l &fd 9gaH o g wromed
AT <l IS 18 off |
(a) 3THRAT (A) IR HRU (R) T T& & 3T RO (R), 3T(9HAT (A) hi
& ST KT 8 |
(b)  3fReH (A) 3R HR (R) IHT T& §, Tq HRU (R), A (A) hi
& AT 7T S § |
(c) AT (A) F&l 7, T=q %R (R) T4 & |
(d) AR (A) TAd 7, T HRU (R) HaEl 3 |

7. 1956 W fopm < AaT 9 WRA i TR I Y 2
(a) B3 IIH (b) ST
() =S TR d frdm

8. fi=fciRga =l HIehHIHR Safeed i :
(i) " 9 | fausE
(i) U TR gRI SATITARIA ohl AN LT
(iii) =&t 39 A
(iv) e SgTgl Al hl G 98 W Hgh

g farehed AT -
(a) (@), (), (ii), (iii) (b) (i), Av), (1), (iii)
(c) (D), (1), (iii), (iv) (d)  @Gv), (1), (iii), (i)
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5. Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.
Assertion (A) : The Soviet system became very bureaucratic and
authoritarian, making life very difficult for its citizens.
Reason (R): The Soviet Union became a great power after the Second
World War.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c)  Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

6. Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.
Assertion (A) : There was a large-scale migration of refugees into India

during the 1971 war with Pakistan.
Reason (R): Pakistan had planned the migration to disturb the Indian
economy.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

7. Which Chinese leader paid an official visit to India in 1956 ?

(a)  Hua Guofeng (b)  Zhao Ziyang
(c) Zhou Enlai (d) LiPeng
8. Arrange the following in chronological order :

(1) Split in Congress Party

(i1))  Imposition of Emergency by Indira Gandhi

(iii)  Fifth General Elections

(iv)  Appointment of Lal Bahadur Shastri as Prime Minister
Choose the correct option :

(a) (1), @v), (i1), (iii) (b) (1), (iv), (1), (ii1)

(c) (1), (A1), (ii1), (v) d)  @Gv), (1), (iii), (1)
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9. ffciRga & @ 98 %A ‘ste f&m < IR 4 w8 757 & 2

(i)  3Eeh! YEIA 2008 ¥ T3 |

(i) I8 FOY ITahaTg IR JGUU o foeg o |

(iii) I8 ATCId TSEER M SUSTTR] o fawg o |

(iv) I8 o &9 G Alhad hl HIT o fow o |

gl fasey ﬂ'ﬁQ :

(a)  had (ii) IR (iv)

(b) R (iii) 3R (iv)

() had (i) 3 (i)

(d) haA (1) 3R (i)

10. i < o9 &0 AWl H HAMHG SR W SISl o ITEH-UGH i JishaT i
fr8 w9 O ST ST4T © 2
(a) TavamE dgcll o 3UX

(b) ¥ T
(c)  T3SEH
@ Tl
11. 1964 H JATEATA 8% ! Ycg o o1G HRA h TIHHET I ST ?
(a)  SUTSiteA TH
(b) AR 3ETE
(c) 3t e

(d) TSl SIETgL It

12. f=fafea o @ o9-a1 v w1 91 (389) & weT 787 8 2

(a) HILd
(b) 9@
(c) sfiae
d =H
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Which of the following statements about the ‘Arab Spring’ are not
correct ?
(1) It began in 2008.
(i1))  The struggle was against terrorism and pollution.
(iii) It raised its voice against corruption and unemployment.
(iv) It was basically a demand for democracy.
Select the correct option :
(a)  (ii) and (iv) only
(b)  (iii) and (iv) only
(c) (i) and (ii) only
(d) (i) and (iii) only

A process of exchanging information on defence matters between nations

on a regular basis is known as

(a)  Confidence-Building Measures
(b)  Arms Control
(c) Alliance

(d) Disarmament

Who became the Prime Minister of India after the death of Jawaharlal
Nehru in 1964 ?

(a) Jagjivan Ram
(b)  Morarji Desai
(c) Indira Gandhi
(d)  Lal Bahadur Shastri

Which one of the following countries is not a member of SAARC ?
(a) India

(b) Nepal
(¢) Sri Lanka
(d) China

Page 9 of 23 P.T.O.
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Qs @

Y <t Te-Fuerar shi Hifad w1 = fag #@ % e @i a @b 4T | 2x1=2

IHE® % Thgl 3 HMET P IATR HINT AT 36 TIFH TogHT I Th Tyl

e 5914 2 | 2x1=2
WL hi ITATEh HL&T i g S oh 0T hI5 qf 39T ST | 2x1=2
1977 % 3T TATE! | gfeault TSt § g 6l S o fohrgl g1 UM <hl ST
i | 2x1=2
Hifa s & fohegl Q1 ST 1 TeATh hITT | 2x1=2
Tee-g sh! TLhRI oh (7T fafid TohR o f&di sl TN 3T Tehdl HEAT o1
AT & ? TS I | 2
QU

“Frel o a9 T gU WRA o THTERITA SENFEh foehme 5 <21 ol i 1 Th
AR Yrfler 1 feam 3 17 hed & 987 | hig IR 38l Ay | 4x1=4

TS o AN H SF-eHR | §U fohedl 31 Sgamai ol fareersor Hifg | 2x2=4

“Syefiehtor 7 TS T VR BT AT dfveeh IUMRRIST W e feam ' 17
FIH % T4 ° 3 T G | 2x2=4

‘Frer wifer” w1 = AN B 2 WE el I ew o W fafRaw e wg wifw
e B | 242=4

1980 ¥ WRd § U HEAET TATEl o Tohral oI &I RN hi T@ HINT | 2x2=4
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SECTION B

Give any two arguments to justify India’s policy of Non-alignment. 2x1=2

Highlight any two functions of UNICEF which make it a significant part
of the United Nations. 2x1=2

Suggest any two measures to strengthen India’s traditional security.  2x1=2

Explain any two reasons for the victory of Congress in the Southern

States in the general election of 1977. 2x1=2
Evaluate any two functions of NITI Aayog. 2x1=2

Why is it necessary for coalition governments to accommodate and

aggregate variety of interests ? Explain. 2

SECTION C

“India’s impressive technological growth in recent years has made the
country an attractive partner of US.” Support the statement giving any

four examples. 4x1=4

Analyse any two developments of the recent years in Jammu and
Kashmir. 2x2=4

“Globalisation has shifted power from nation-states to global consumers.”

Support the statement with two arguments. 2x2=4

What is meant by ‘Veto Power’ ? Name any four countries that enjoy veto

power. 2+2=4

Examine any two main reasons which led to the mid-term elections in

India in 1980. 2x2=4

Page 11 of 23 P.T.O.
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24, WRA % fou U ToHifoe @IAEREE (I8 13 W) H IR TSI R
@), ®, © da O & g Afhd foram w1 2 | 9 & 18 TSR & A1ER
W TS Sl ggaH T SR A0 IT-gfeaert & 39 T&l 9™, TN 6 18
SRRl <ht shH T o gHfes § fean man gefuq sew, f=fafed aew &+
STER forfe 4x1=4

(i)  YRd % yd Uegufa .4 il 9 wraf-oa T |

(i)  <hIIE o Adl . HETS O graf-ad T |

(i) o8 TS & § “ST T, T T JHA H1 AW A |

(iv) 1965 — 1967 H g=@ X Qe Hehe b1 FHAT HTH Il TSY |

TN <l T8 AR | AHRS |

. A TS k1 9
&1 0 9T gafed 31er

1)

(i1)

(iii)

(iv)

59/4/2 Page 12 of 23
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In the given political outline map of India (on page 15), four States
have been marked as @), B), © and D. Identify these States on the

basis of information given below and write their correct names in your

answer-book along with the respective serial number of the information

used and the concerned alphabets given in the map as per the following

format :

4dx1=4

(1) The State related to V.V. Giri, the former President of India.

(i1))  The State related to the Congress leader, K. Kamaraj.

(iii) The State from where the phrase, “Aya Ram, Gaya Ram”

originated.

(iv) The State which faced the most acute food crisis in 1965 — 1967.

Sr. no. of the
information used

Concerned alphabet
in the map

Name of the
State

1)

(i1)

(iii)

(iv)

Page 14 of 23
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g
(24.1)
(24.2)

(24.3)

(24.4)

4x1=4

A o g9 Usgufd ot il @ wrafea o= o1 9w fafaw |
HTUY o IdT . SIS (8 TSI 9 grdf-2g o 2

39 TS w1 AW fafgu sl 9 afg Jae, “sten g, T W S S
7o |

1965 — 67 H TorT TSI &l Ga@ TR W Hohe k1 THEAT HET TS
T ?

f= fer v o w1 ermyde sterm dife s frefafed el % 3@

IS L

(1)

(i1)

4x1=4

ez mn o3 Frafafiga & 9 form oo @ wefR@ 2 2

(a) TIMR (b) UTA

(c) AT (@ et

feu o o 9 ewrten T Aefafga # 9 foew v w e g 2
(a) SMf=df-Teha (b) heTehal ATE

(c) =Wl IHarEdd (d) TR IHarEd

Page 16 of 23
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The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 24. 4x1=4

(24.1)

Name the State related to the former President of India, V.V.
Giri.

(24.2) Name the State to which the Congress leader K. Kamaraj
belonged.

(24.3) Name the State from where the famous phrase, “Aya Ram, Gaya
Ram” originated.

(24.4) Which State faced the most acute food crisis in 1965 — 67 ?

Study the given picture and answer the questions that follow : 4x1=4

1)

(i1)

The given picture belongs to which one of the following countries ?
(a) Myanmar (b) Nepal
(c) Bangladesh (d) SriLanka

The memorial shown in the picture is located at which one of the

following places ?
(a)  Shantiniketan (b) Calcutta University

(c) Burma University (d) Dhaka University

Page 17 of 23 P.T.O.
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(i) fo & wrafrd g fopm ad o =fed g8 off 2
(a) 1950 (b) 1975
(c) 1982 (d) 1987

(iv) 39 T o [0 Hi4-91 Bf9eh w8es Idert o1 ?

(a) SRS TIR® (b) .S TI.UH. W
(c) TSt waH d) T3dass

Fig:  [HEliad Jv7 Fac glEETAT Gl & 77 Jv7 @9 25 % € W
&/ 4x1=4

(25.1) Y o fashm | HEE@T 1 q98 IS |Id HIH-91 ¢ 8 ?
(a) HIH Teg STHNRT (b) ®F
(c) WRd @ =~

(25.2) GieAU TR %1 98 o S AR T ° A ° BRI gIT R, |
(a) HEE (b) TTATe
(c) ured (d) uTfREa™

(25.3) &I Uifehea™ H, dfvenfl Wifehea™ < YYcd o Raars AptE duy
feh®reh Hiqcal | foham =T o 2
(a) @ SIS THH
(b) 3@ GSie HIgHS
(c) RS ATfeA @H
(d) . S TE.TH. SWIE

(25.4) 9Td Tl k1 TeaY fohd o9 @ Trafeed 2 2
(a) Y™ (b) 9T
(c) YA (d) uTferEa™

59/4/2 Page 18 of 23
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(iii) When did the incident related to the picture happen ?
(a) 1950 (b) 1975
(c) 1982 (d) 1987

(iv)  Which military ruler was the cause for this memorial ?
(a)  General Musharraf (b) Lt.General H.M. Ershad
(c)  Ziaur Rahman (d) Zia-ul-Haq

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25. 4x1=4

(25.1) Which country is Bhutan’s biggest source of developmental aid ?
(a) USA (b) Russia
(c) India (d) China

(25.2) A landlocked country of South Asia is :
(a) Maldives (b) Bangladesh
(c) Nepal (d) Pakistan
(25.3) In East Pakistan, the popular struggle against the domination of
West Pakistan was led by which one of the following leaders ?
(a) Sheikh Mujibur Rahman
(b) Sheikh Mujib Mohammed
(c) General Yahya khan
(d) Lt. General H.M. Ershad

(25.4) The Seven Party Alliance is related to which country ?
(a) Bhutan (b) Nepal

(¢) India (d) Pakistan
59/4/2 Page 19 of 23 P.T.O.
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feffgd T &1 eqHgds I=e Hifve 3t fgu MU yodi & I
dNT 4x1=4

TR TS T1gieH o a1 fg-use fagra o fawam 78 & 9, e off
faurem anfifer smam W g3 on | Hitew o 1 e suidReE wRd H
qaHH & fadl 1 @ o fore foham w o | 9% geemHl & e stem s
T G ° qed 3 ot |

()  TourH o g9 Fefalad 5 € fra U9 1 aifies Igad % U W
Tt fepam T e 2

(a) I I

(b) TSIA
(c) <A

(d) < 3R IR

(i) Tr=fated & 9 oo wae % WES 7 G99 Y80 YA § T Wad &
<t =rwon <l off 2
(a) BT
(b) UYL

(c) S[Ie
(d) VR

(iii)  giecd i 1 Tod =i T TR o ?

(a) ‘fg-use fagm yeafaa s & fau

(b) Ueh AT TS UTfehEd™ M o foTw
(¢) UIhEd T HTY™ dIR i o foIy
(d) Ul 9Ra 4 gaadHEl & f&di i @1 i & e
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B
Read the passage given below and answer the questions that follow :  4x1=4

The leaders of the Indian national struggle did not believe in the
two-nation theory. And yet, the partition on religious basis had taken
place. The Muslim League was formed to protect the interests of the
Muslims in colonial India. It was in the forefront of the demand for a

separate Muslim nation.

(1) At the time of partition, which one of the following States was

divided on the basis of religious majority ?
(a)  Uttar Pradesh

(b)  Gujarat

(c) Bengal

(d) Jammu and Kashmir

(i1))  Which one of the following Princely States was the first to
announce to remain independent and not to join the Union of

India ?

(a) Hyderabad
(b)  Manipur
(c) Junagarh

(d) Travancore

(iii)) Why was the Muslim League formed ?
(a) To propose ‘two-nation theory’
(b)  To form a new nation named Pakistan
(c) To prepare the constitution of Pakistan

(d)  To protect the interests of the Muslims in colonial India
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28.
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(iv)

(@)

“®collegebatch con

o
faarsm & SR 0 YRa Y AN THR HT FA1 TG o7 ?
(a) g fordll off gea # favrem 78 =medt o |
(b) g MM, HEWTE TR g8 61 T =gt off |
(c) 98 WA %l Th fawg TS M1 =& off |
(d) 98 FRRA & TY g7l AR W FagR Iradi ot |

Qs ¢

Ifyger ToHifa o foie wewqul fopegl @ qfaRer aremeft famareti i

ISR HIT | 3IX2=

HAAT
fohrgl M AU YT 3Tl Ud 39eh Hgd ol 39T

hINTT, | 3x2=

quehTe faed ® ST <t fHehT T Jemehd i |
3T
‘SR SrefeaTen § QU o STavg oW § |uft 1 offde Ui 1 oy

Tl et 1” 39 a9 & 9 § i3 di9 de faiiau | 3x2=

“ITTRIE 3T hred” o 321 T IO ol feagetyor hife | 3+3=
AT

iferd 99 o faeed & forgl d9 it 1 fagayor hifsg | Sx2=

LT I 3R T IV A 9RAR TSHIfd 3 g fohegl dF T

JedATdl sl IFANR HIfT | 3x2=
AT

2004 % A AT AT & 91 TRA & ATIH TSHIfdH Al o i

fohmal i fergati ot 3wl HaAfd 1 ITTR KT | 3Ix2=
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27.

28.

29.

30.
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(iv)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

@ collegebatch con

OpO
i
What was the stand of the Interim Indian Government on
partition ?
(a) It was against partition.
(b) It wanted peace, harmony and equality of religion.

(c) It wanted India to become a Hindu nation.

(d) It was in favour of treating people on religious basis.

SECTION E

Highlight any three environmental concerns significant to global

politics. 3x2=
OR

Highlight any three international environmental movements and

their importance. 3Ix2=

Evaluate the role of ASEAN in the contemporary world.
OR

“In spite of the improvement in the Chinese economy, not everyone

in China has received the benefits of economic reforms.” Support

the statement with three arguments. 3IxX2=

Analyse the objectives of the “Operation Iraqi Freedom” and its

outcomes. 3+3=

OR

Analyse any three consequences of the collapse of the Soviet

Union. 3x2=

Highlight any three major developments that took place in Indian

politics during NDA IIT and NDA IV. 3x2=

OR

Highlight any three points of consensus that emerged among most

political parties in India after the Lok Sabha Elections, 2004. 3x2=
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